a) Find an eguation for the number of flowers (F) related to the

/ number of weeks (w).

Uam;., the ;,rrupfr we need fo fimd!

Hrn.rr the equation:

F= (0w *S
b) Check your equation fchoose a point on the graph) ( % gga

Weeks (w) ‘ ~ 3
¢) Predict the number of flowers after T2-weeks
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Write the eynetion: 5ﬁaﬂc .y yimt-= l-[ Write the equation; Sl'rqﬂé = % yint = |
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Check vour equation: { 3 ,-1) o Check vour equation: [ k b ] g
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B: Check the equation (-4, <1)
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We call these 2 lines QEE H@f.whiuh means they have the same (:_)I':ﬂ P& but different
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Slope = @ —J-&T:_'f v-intercept = S
Wrire the equarion:
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Flat lines are called hﬁ"ﬂ?gﬂﬁll lines. They have the same _\/ wvalue everywhere!

Al hpw WTI"’L: lines have a slope of () .

Slope = @ noie v-intercept = @ Nade

Weire the eguation:

@ at'wa;z 2

Straight up and down lines are called ‘L;Ef'ﬂl?f:ﬂf

lines. They have the same E{ value everywhere!

All ‘Jﬁ"‘fh ’-Cﬂl{ lines do not havea 5 Eﬁ_f?f oF @ }f —i /) 'fl_
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